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QUESTION 1

Which data element is required for Address Verification (AVI)?
A. City.

B. Zip +4.

C. Country.

D. Record ID.

Correct Answer: C

QUESTION 2

When a single file match is required where all records must be processed through every pass, what match type is
required?

A. One-source Dependent
B. One-source All-Passes
C. One-source Independent
D. Two-source Many-to-one

Correct Answer: B

QUESTION 3

You are designing a reference match that will be run on a daily basis. Where should the reference data frequencies
typically be generated?

A. In a Server job in the same Job Sequence.

B. In a shared container in the same job as the match.

C. In a different job stream and part of the daily process.

D. In a different job stream and not part of the daily process.

Correct Answer: B

QUESTION 4
When reviewing the results of a Match job you notice that some records are not included in a match group.

Which option would you review to determine why the records are not matching?
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A. Change the Match cut-off to-100.

B. Change the Survive rule to include Residual records.

C. Check the records for missing data values in the block fields.

D. Change the match from Two-source many-to-many to Two-source one-to-many.

Correct Answer: A

QUESTION 5

What is a function of rule sets in the Standardize stage?
A. Survive

B. Parsing

C. Dedupe

D. Removal

Correct Answer: C
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